_ds
dt
dv d’s
a=_=_2
dt dt
v=u-+at
1 2
S=ut+—at
2

2 2
vi=u"+2as

_do
dt
_do _d’0
dt di
w=w,+at

s=rb
V=rw
a,=ro
27
w=—
T
w=2af
2
v 2
a,=—=rw
7
2
my 2
F = =mrw
r
2
I:Zmr
t=Fr
t=1a

Relationships required for Physics Advanced Higher
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1

2
Ek(rotational) = EICO
EP = Ek(translational) + Ek(rotational)
GMm
F=—F
r
GMm m* 2
F=——=—=mro" =mr
r r
GM
V=-
r
GMm
E,=Vm=-
7

/ZGM
VESC =
”

2GM

rSchwarzsch ild = c 2

b= LZ
4rd

£= oT*
A
L =4m’eT*

E=hf

2

)



2
w=2nf =—
/ T
dzy 2
a=—=-@
dt* Y

y=Acoswt or y=Asinwt

v=1tw (Az—yz)

opd =nx gpd

opd =ml or (m +;)/1 where m =0,1,2.

i

Ax=—
2d
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F =1IBsinf

F=qvB

t=RC

AW =JAX2 +AY? +AZ?

-T2
SRc




p=my

Ft=mv—mu

Mm

2
r

F=G

_ %
z _fS[vivsj

z = observed }“
ﬂ‘rest
v
zZ=—
C
v=H,d

rest

W: Q V Vpeak = ﬁ rms

E = mcz Ipeak = \/i]rms
E=hf O=1t
E. =hf —hf, V =1IR

— 2
B =B =hf P=1V=rR=""

’ R
T=—

f R,=R,+R,+...
= FRae
dsinf =mAi ! ! 2

E=V+1

sin 6, :
n=—

sin @, R,

V= R 4R Vs
sing, v 1T
sinf, A, v

2 2 2 ﬁzﬁ
sinz9c=l 2 2

n

-2

k V
I:?

1 1 9

E=-0V==-CV"*=

P 2 2
[=—

A

path difference = m4 or [m+;)/1 wherem=0,1,2...

max. value — min. value
number of values

random uncertainty =
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